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B. A. (Part - III) Examination, 2022
(New Course)
 Economics
Paper First

(Development and Environment Economics)

Time : Three Hours] [Maximum Marks:75




Note: Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

I/Unit - I

1. 


P.T.O.
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What do you understand by economic development?
Explain the factors effecting economic development.

/OR



Explain the form sector models of Mahalanobis.

II/Unit - II

2. 

Examine critically the growth model of Schumpeter.

/OR



Describe in detail the theory of Demographic transi-
tion.

III/Unit - III

3. 

Discuss critically the economic growth model of
Harrod - Domar.

/OR


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

Critically explain Lewis growth model 'Unlimited
Supply of Labour.'

IV/Unit - IV

4. 


What is water pollution? Discuss various measures
to control water pollution.

/OR



Write a note on Indicators of sustainable development.

V/Unit - V

5. 

Write an essay on Food Security in India.

/OR




What are the causes of low agricultural productivity in
India? Describe the various measures for its solution.


